Accelerated Pre-Calculus

Name
Solving Multivariable Systems QC - A

Date Block

Calculator use is allowed; you may not use a calculator with matrix operations. Show all work and write your
answer on the line!

1. Use substitution to solve the system of equations.
xX+2y—-z=-3

—2x+y—3z=-9 O x+ Q(_"Q.%-l-s)-');:: -3
y=-2z+3 X -4z rlo-2= -3
X-5z = -9
@ - ax-2z+3-32=-1
=~y =B Z = =] B

® x-52=-9
- 2x 5% = ¢
-X ¥5z = o
—2x = -3
X =\

@ | B =1

__5%:-—'\0.
E 2 =
® y=-202)%3
= =\

Answer: e | (\)“\, ,',L)
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2. Solve using elimination.

x+y-z=11 o = (\
2x+2y—32=28) X'\’% o
4x—-y+5z=-20 Xv 3 = 5

% -%:l\
Q ax ray-3z= -8 @ L\ii -‘63“52*3_0_

—2X = Ay ks AT 5 x +4z=-9
~z=lp
2==0
= |
@ 5y s4a--1 @3+‘é+(° |
5y +4-6)= - I @
5y = -aF3d
Ex =I5
X =3

Answer: (31 ;') -—(0)
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Accelerated Pre-Calculus

Name
Solving Multivariable Systems QC - B Date Block

Calculator use is allowed; you may not use a calculator with matrix operations. Show all work and write your
answer as an ordered-triple on the line!

1. Use elimination to solve the system of equations.

Xt+ty—-z=14
2+ 2y - 3z =35 _ oyt
4x—y+5z=-22 @4 i %,‘,"‘,\
Xeh-T =14 \3::3

Yy .6';5-,'5:-'1')—-

syxrqz=-%

O__ _apraz=-a8
z({‘ g~ 3¢~ 3>
—z="

Z=-1
B 5xry(1)="8

Answer; (”rl 3) _,rr)
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2. Use substitution to solve the system of equations.

p‘ +2 = =5 - - — £ —
0 -;.x+,3’f—;z=0 @ i 0 = >

& y=-22-1 , 5p X ~Yz-—2-2=5
% —5z="1
cop B - x -22-1-32=0
- dx-5%=

3 2lx-52="1(>)
—ax-5z< |
A% 7\_0%:'_!_5_“__
—\5% = 4o} = %57’\

@ x=5ED)="7 4
$x5 = —> %R=&

@ %_-;-;3.(-1‘)"\
9

‘ .

It

Answer: ( 9"37 L dl) M

Scanned with CamScanner



